| Company | MMRK LLP | | Name of contractor | A.Hanish | | SI. No. s | ite bills reg. | | 107 |
|--------------|--|--|--|---------------------------------------|------------|---------------------|---------------------|------------|-----------|
| Project/site | GHT | | Nature of work | Scaffolding | | Dt. site bills reg. | | | 1-11-2024 |
| Block no. | Block-A & Block-B | | Work done from date | 25-10+2024 | | M-codex | bill ID. | | |
| WO no. | | 1 | Work done to date | 18-11-2024 | | WO issu | ed? | | |
| WO date | | | Contractor bill no. | | | GST bill | required? | | |
| Sl. No. | Unit/floor no | D | Details of work | | Qty | Units | Rate ID | Rate | Amount |
| 1 | Between 110,109 east open duct | Scaffolding tying & remov | ring for civil touch up work | | 440.00 | sft | SCF116,SCF117 | 4.00 | 1,760 |
| 2 | 2 109,209 north external | Scaffolding tying & remov | ving for civil touch up work | | 725.00 | sft | SCF116,SCF117 | 4.00 | 2,90 |
| 3 | 108,208 north external | Scaffolding tying & remov | Scaffolding tying & removing for civil touch up work | | | sft | SCF116,SCF117 | 4.00 | 2,90 |
| 4 | Between 108,107 east open duct | Scaffolding tying & removing for civil touch up work | | | 440.00 | sft | SCF116,SCF117 | 4.00 | 1,76 |
| 5 | 107,207 north external | Scaffolding tying & remov | ving for civil touch up work | | 725.00 | sft | SCF116,SCF117 | 4.00 | 2,90 |
| 6 | 106,206 north external | Scaffolding tying & remov | ving for civil touch up work | | 725.00 | sft | SCF116,SCF117 | 4.00 | 2,90 |
| | | | | · · · · · · · · · · · · · · · · · · · | | | | | |
| | | | · · · · · · · · · · · · · · · · · · · | | | | | | |
| | | | | | | · | | Tots | 1 15,1 |
| Remarks: | 1-31 | | | | Total | amount | including taxes for | work dor | ie 15,1 |
| Approved by | project manager 2 2 NOX 2 | 024 | Approved by QS team | | | Appro | oved by Director/E& | D team | |
| Sign: | | Sign: | | | | | | | |
| Date: | 1005 FC3 14 | 1.9.2.8.1 | Date: Date: | | | | | | |
| Attach measu | s sheet replaces installation repor prement and estimate sheets only for bill amount less than 10k any | if required i.e., details canr | not be entered above. 5. For | bill amount | greater th | nan 10k (| QS manager and dire | ectors app | oval is |

Anand Mehta (for GHT + GMR), Sachin (for Vivopolis), B. anand Kumar (for NGH + NRK). 8. Entry of rate ID is mandatory. 9. This sheet must be sent within 2 working

| MEASU | REMENT SHEET | | | | | | | | |
|--------------|--|------------------------------------|--------|-------|---------|------------|-----------|----------|-----------------|
| Compan | iy Name: | MMRK LLP | | Appro | ved by: | Sures | 1 | | |
| Project: | | GHT | Sign: | | ourcan | | | | |
| Work D | ork Description : Scaffolding Work start date 25-10-2024 | | | | | | | | |
| Contrac | tor: | A.Harish Work end date: 18-11-2024 | | | | | | | |
| Prepared By: | | K.Praveen | | | | 21-11-2024 | | | |
| | | | Α | B | 1 | D | E=AxBxCxD | F | G= Sum of F |
| S No. | Item Head | Item Description | Length | Width | Height | No's | Quantity | units | Item Head Tota |
| | | Scaffolding tying & removing | | | | | 2 | Conneg . | Teem Intau 1014 |
| 1 | Between 110,109 east open duct | for civil touch up work | 22.00 | 1.00 | 20.00 | 1.00 | 440.00 | eff | |
| | | Scaffolding tying & removing | | | | 1100 | 110.00 | 510 | |
| 2 | 109,209 north external | for civil touch up work | 36.25 | 1.00 | 20.00 | 1.00 | 725.00 | sft | |
| | | Scaffolding tying & removing | | | | 1.00 | 125.00 | 510 | |
| 3 | 108,208 north external | for civil touch up work | 36.25 | 1.00 | 20.00 | 1.00 | 725.00 | eff | |
| | | Scaffolding tying & removing | , | | | 1.00 | 725.00 | 511 | |
| 4 | Between 108,107 east open duct | for civil touch up work | 22.00 | 1.00 | 20.00 | 1.00 | 440.00 | off | |
| | | Scaffolding tying & removing | | | 20.00 | 1.00 | 440.00 | SIL | |
| 5 | 107,207 north external | for civil touch up work | 36.25 | 1.00 | 20.00 | 1.00 | 725.00 | eff. | |
| | | Scaffolding tying & removing | 5 | 1 | 0.00 | 1.00 | 725.00 | 511 | |
| 6 | 106,206 north external | for civil touch up work | 36.25 | 1.00 | 20.00 | 1.00 | 725.00 | sft | |
| | | | | | | | | | 3780.0 |

X

| ESTIMATE SHEET | | | | | | Approve | d By | |
|-------------------|----------------------------------|--|----------|-------|------|----------|------------------------|---------|
| Company Name: | MMRK LLP | | | | | Suresh | | |
| Project: | GHT | | | | | | | |
| Work Description: | A.Harish | | | | | | | |
| Prepared By | Praveen.K | | | | , | | | |
| Bill Date: | 21-11-2024 | | | | | | | |
| S No. | Item Head | Item Description | Quantity | Units | Rate | Amount | Item Head Total | Remarks |
| | Between 110,109 east open duct | Scaffolding tying & removing for civil touch up work | 440.00 | sft | 4.00 | 1,760.00 | | |
| | 2 109,209 north external | Scaffolding tying & removing for civil touch up work | 725.00 | sft | 4.00 | 2,900.00 | | |
| | 3 108,208 north external | Scaffolding tying & removing for civil touch up work | 725.00 | sft | 4.00 | 2,900.00 | | |
| | 4 Between 108,107 east open duct | Scaffolding tying & removing for civil touch up work | 440.00 | sft | 4.00 | 1,760.00 | | |
| | 5 107,207 north external | Scaffolding tying & removing for civil touch up work | 725.00 | sft | 4.00 | 2,900.00 | | |
| | 6 106,206 north external | Scaffolding tying & removing for civil touch up work | 725.00 | sft | 4.00 | 2,900.00 | | |
| | | | | | | | 15,120.00 | |

Ch

Labour Charges A.Harish KOWKUR Hyderabad

Date: 22.11.2024

In favor of : MMRK LLP Project/Site: GHT Location: Kowkur

Type of Work: Scaffolding

Towards : Labour Charges

| S.No. | Discription | Amount | |
|-------|---|--------|----------|
| 1 | Breif discription of work: sacffolding tying & removing for | | |
| | external civil touch up works | | 6,048.00 |
| | Total amount: 15,120.00 | | , |

Amount in words: Six thousand fourty eight rupees only /-

Sign:

Allowance For Consumables A.Harish KOWKUR Hyderabad

Date: 22.11.2024

In favor of :MMRK LLPProject/Site:GHTLocation:Kowkur

Type of Work: Scaffolding

Toward Allowance For Consumables

| S.No. | Discription | | | |
|-------|---|-----------|--|----------|
| 1 | Breif discription of work: sacffolding tying & removing for | | | |
| | external civil touch up works | | | 3,024.00 |
| | Total amount: | 15,120.00 | | |

Amount in Word: Three thousand twenty four rupees only/-

Sign:

Allowance For Equipment A.Harish KOWKUR Hyderabad

Date: 22-11-2024

In favor of :MMRK LLPProject/Site:GHTLocation:Kowkur

Type of Work: Scaffolding

Towards : Allowance For Equipment

| S.No. | Discription | Amount | | |
|-------|------------------------------------|-----------|----------|--|
| 1 | Breif discription of work: sacffol | | | |
| | for external civil touch up works | | 6,048.00 | |
| | Total amount: | 15,120.00 | | |

Amount in Word:Six thousand fourty eight rupees only /-

Sign:_____